Rapid Reasoning | Answers Year5 | Week 4 | Day5

m Lottie, Jamil and Sara each write down m A cycle track is 355 metres all the way
a three-digit number. around.
Lottie’s number is 486 less than Sara’s Mia cycles around the track 9 times.
number.

i How far does Mia cycle in metres?
The total of Jamil and Sara’s numbers

is 1,738. 3,195 m
Jamil’s number is 844.

1 mark
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What are Lottie and Sara’s numbers? m This machine counts in multiples of 25.
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Circle the numbers it will not show.
Lottie = 408 350 & 775
i 1 mark

Sara = 894

2 marks
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Rapid Reasoning | Mark Scheme Year5 | Week 4 | Day5

Requirement Mark | Additional guidance
Q1 Lottie =408 2
Sara =894

Award TWO marks for both correct answers.

Award ONE mark for a complete method with one
arithmetic error OR for one child’s number being

correct.
Q2 | 3,195m 1
Q3 | 705and 520 1
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